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INSTRUCTIONS TO CANDIDATES

: ﬂ'ﬂﬂlﬂ.t‘lﬂn Paper will be given in the form of a Question Booklet. There will be four

versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet. : o ’

‘The Question Booklet Alpha Code allotted to you will be noted in your seating position in

the Examination Hall.

uqummmmmal a code does not match to the allotted A

Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.
The Question Booklet Serial Number is printed on the top right mangin of the facing sheet. If vour
mmmaumm,mwnmﬁﬁ“mﬁm at\lmgg‘r:'r“‘l'ﬂ

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to himher contains all the 100 questions in seral order. The
ng#mamﬁatdmamthmunpﬁmademmnﬁalngpa and if s0 heshe should

mﬂ?nﬂm_ﬁﬁmﬂrﬂgﬂtﬂr&p{mﬂdb’yﬂ booklet with same Alpha
This is most important.
mtﬂﬂm1wmmh:'hamlnE md:%ﬁgmmm
u-u""m"'u- m"'"mem. N :

. Two blank pages are provided before the last page of this Question Paper for rough

work,

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answears.

Each question is provided with four choices {'.g.',l. ), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble mﬂmmg to the question number
using Blue or Black Ball Point Pen in the OMR Answer .

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

Mo candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict mmﬁalianm of instructions is essaential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.

-
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1. Important facts relating to Mahatma Gandhi and Civil disobedience movement.
i Gandhiji started civil disobedience movement from Dandy to Sabarmati Ashrama,

Distance of 322 km.

ii. Civil disobedience movement slowly declined and it was formally suspended in May
1934,

i, Chittagong armory raid was conducting under the leadership of Surya Sen between
the periods.

. Gandhiji attended first Round Table Conference on November 12, 1930.

A) Only i and ii are correct B) Only i and iii are correct

C) Only ivis correct D) Only i, i, iti are correct

2. Relevant Facts about 1857 Revolt.

i. Doctrine of Lapse-Annexed Dy the Right of Congquest, Satara, Jaipur, Sambalpur,
Baghat, Udaipur, Jhansi and Nagpur.

ii. Eriﬁuhmwmﬂiﬂpuﬁminirdiawnmad [ tiheiniﬂreatsuﬂndiantrademm
industry. The East India Company Lﬁ&dispuﬂﬂmipuuﬂftudaﬂrwlndian handicrafts
and industry and developed it mmwmﬂnmw gyslem.

i The East India Company rule continued for a long time after the 1858 Act.
. The Revolt of 1857 ended the era of territorial aggrandizement, gave place to the era

of economic exploitation. The emotional after-effects of the Revolt were parhaps the

most unfortunate. Racial bitterness was perhaps the worst legacy of the struggle-

A) Only i and il are correct B) Onlyiis correct and iv is incormect

C) Only i, ii, iv are correct D) Only i, i, iii are cormect

3 |mportant facts relating to Marthanda varma's Battle of Colachel.
i The Battle of Colachel was the hattle between the Dutch and Marthanda Varma.

ii. The Dutch wanted 10 saize power in Anchikaymal (Ernakulam area) Martha
vadakkumkoor.

iii. The Dutch received much-needed military assistance from Batavia. d

. On May 22, 1743, a comprehensive peace treaty was signed by mMarthanda Varma
and Commander Reneccasirsum at Mavelikkara.

A) Only iii is correct B) Only ii and iii are corract
C) Only i, i, iii are correct D) Only i, ii, iv are correct
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4. Important facts relating to United Kerala.

I. A Reforms Committee has been constituted for the development of constituencies
with the participation of representatives of the State Congress.

ii. The rule of Dalawa and Diwan continued upto 1959,

iii. During the tenure of T. K. Narayana Pillai, the Government of India decided to unite
the princely states to form a United Kerala.

iv. The State of Kerala came into existence after the Govermment of India approved the
recommendation of the State Redistribution Commission.

A) Only i, iii, iv are correct B) Only i and ii are correct
C) Only iii is correct D) Only ii is correct

5. The wrong statement relating to formation of United Nations Organization.
I. The draft charted was then discussed, modified, improved and finally signed by
representatives of fifty states at the San Francisco Conference in April-June 1945,
ii. Under Article 24, members confer on the Security Council primary responsibility for
the maintenance of international peace and security.
lii. The Norwegian Foreign Minister Trygvelie was elected as First Secratary General,
tv. The United Nations non permanent members also enjoyed veto power,
A) Only i, ii, iii are correct
B) Only iv is correct
C) Only i and ii are correct
D) Only i and iii are corract

6. Important facts connected with Azadi Ka Amrit Mahotsay.

i. Azadi Ka Amrit Mahotsav is an initiative of the Govern ment of India to celebrate and
commemorate 75 years of Independence.

ii. Azadi Ka Amrit Mahotsav commenced 15™ August 2022 which started a 50 week
countdown to our 75™ Anniversary of Independence and will end post a year on
15™ August 2023,

iii. It helps bring alive stories of unsung heroes whose sacrifices have made freedom a
reality for us.

iv. Programs under this theme include Birsa Munda Jayanti, declaration of provisional
Government of Free India by Nethaji, Shaheed Diwas eic.

A} Only i and ii are correct B) Only i, iii, iv are correct
C) Only i, iii are correct D) Only ii is correct
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10.
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12,

13.

14.

In which season the phenomenon of ‘Monsoon trough’ an elongated pressure trough
across Ganga basin upto the head of Bay of Bengal occur 7

A) Cold Weather Season B) Hot Weather Season
C) South West Monsoon Season D} Morth East Monsoon Season

Inner most zone of interior of the earth extends from 2800 km depth to the nucleus
of the core is termed as

A) Barysphere B) Pyrosphers
C) Weichen — Guttenberg Zone D) Mesosphere

Resources which are found in a region but haven't been utilized and aren't developead
properly

A) Stock B) Reserve

C) Potential Resource D) None of the above

India’s first Earth Observation Satellite which is to be placed in a geosynchronous
transfer orbit by GSLV-F 10

A) EOS-04 B) GISAT-1

C) RISAT-2B D) CARTOSAT-2A
Largest ethnic group concentrated in Niger and Northwestern Nigeria
A) Maasai B) Hausa

C) Bindibu D) Tuaregs

Central Tuber Crops Research Institute situated in

A) Karamana B) Pampdumpara

C) Peechi D) Sreekaryam

The main objective of WTO is
A) To establish a trade platform for goods and services among the nations
B) To establish international competitive market platform for goods and services

C) To establish a rule based trade regime to ensure optimum utilisation of world
resources

D) To establish co-operative regime among the nations for the trade of surplus
resources

GSTHN stands for

A) Goods and Services Tax Network

B) Goods and Services Trade Network
C) Goods' Source Tax Network

D) Goods and Services Transport Network

&
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15. According to the difference between NITI Aayog and Planning Commission, which
of the following statement is/are correct 7

I. NITI Aayog has no such power to impose policies on state. It is an advisory body.

ii. The Planning Commission previously had the power to impose state policies, The
projects approved by the Planning Commission.

A) Only i is correct

B) Only ii is correct

C) Both i and ii are correct

D) Both i and ii are partly correct

16. Among the following which tax is being subsumed at central level ?
A) Service tax B) Purchase tax
C) Luxury tax D) Tax on lottery

17. The State in which the first Food Museum of the country recently inaugurated by the
Hon'ble Minister Shri Piyush Goyal is

A) Tamil Nadu B) Andhra Pradesh
C) Gujarat D) Punjab

18. Among the following which of the Constitutional Amendment is related to GST 2
A) 104 B) 103 C) 102 D) 101

18. The words Socialist and Secular was added to the Preamble of the Indian Constitution
through the

i. 44™ Amendment
ii. 42™ Amendment
iii. 38™ Amendment
iv. 57 Amendment
A) i B) ii C) iii D) v
20. The President can promulgate an ordinance
i. When both Houses are not in Session.
ii. When only one House is in Session.
iii. Only when there is a National Emergency.

v, At any tima.
A) Only i and iii B) Onlyiandii
C) i D) iv

y
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21. The 103™ Constitutional Amendment of the Constitution of India

I Intreduced 10% reservation for Economically weaker Section of sociaty for Admission
to Central Government run educational institution and private educational institutions
(except for minority educational institutions) and for employment in Central
Government Jobs.

ii. Introduced 10% reservation for Economically weaker Section of society for Admission
to Central Government run educational institution and private educational institutions

including minority educational institutions and for employment in Central Government
Jobs.

fii. Introduced 12.5% reservation for Economically weaker Section of society for
Admission to Central Government run educational institution and private educational

institutions (except for minarity educational institutions) and for employment in Central
Government Job.

lv. Introduced 12.5% reservation for Economically weaker Section of society for
Admission to Central Government run educational institution and private educational
institutions including minority educational institutions and for employment in Central
Government Job,

A) i B) i C) iii D) v
22. Ar. 19(1)(a) of the Indian Constitution which guarantees Fundamental Right to
Freedom of Speech and Expression can be restricted on the grounds of
i. Defamation
ii. Decency and Morality
ili. Contempt of Court
iv. Incitement to an Offence
A) Only i B) Only ii
C) i and iv D) All of the above
23. A prerogative Writ calling upon a person to ‘show by what authority he or she holds
of occupies a public office’ is
I. Writ of Mandamus
ii. Writ of Quo Warranto
Hi. Writ of Certiorari
iv. Writ of Prohibition
A) | B) ii C) iii D) iv
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24. Which of the following statements are correct about the Comptroller and Auditor
General of India ?

i. Appointed by the President of India.

ii. Shall be eligible for further office either under Government of India or Government
of State after he has ceased to hold office.

lii. Shall only be removed in like manner and on like grounds as a Judge of Supreme

Court.
iv. The salary of CAG is charged from Consolidated fund of State.
A) Only i and ii B) Only i and iii
C) Only i, ii and iv D) Only iii and iv
25. How many Fundamental Duties are there under the Indian Constitution 7
i. 10
li. 11
iii. 8
v. 9
A) i B) i C) il D) iv

26. Equal Justice and Free Legal Aid is
i. Guaranteed under the Fundamental Rights Chapter.
ii. Recognised under the Chapter on Directive Principles of State Policy.
iii. Is acknowledged under the Fundamental Duties.
iv. Mot recognized anywhere in the Indian Constitution.
A)i B) ii C) iii D) iv
| 27. Who is the 48" Chief Justice of India ?
| i. Justice N. V. Ramanna
ii. Justice A. M. Khanwilkar
i. Justice Uday Umesh Lalit
iv. Justice Dr. D. Y. Chandrachud
A) i B) ii C) iii D) iv
28. Which among the following statements are not true with regard to the National Rural
Employment Programme (MNREGA) of Government of Kerala 7
1. The objective of the programme is to strengthen the livelihood resource base of the,
poor.
2. Strengthening Panchayati Raj Institutions.
3. Development and consolidation of the feeling of National unity.
4. Proaclively ensuring social inclusion.
A) 1and 3 B) 2 and 4 C) 3 only D) 4 only
A 2.
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34. Plasma clearance is defined as the amount of plasma that is cleared of a substance

uv :
in given unit time and can be calculated by the formula C = — . Find out the GFR
from the following if, P

Concentration of inulin in urine = 125 mg/dL

Concentration of inulin in plasma = 1 mg/dL

Volume of urine output = 1 mL/min

A) 1 mL/min B) 125 mL/min
C) 0.008 mL/min D) 180 mL/min

35. Which of the following statement is/are correct about somatostatin ?
i. Inhibits the secretion of GH and TSH from anterior pituitary.
i. Inhibits gastric secretion and motility.
iii. Inhibits secretion of pancreatic juice.
iv. Inhibits secretion of GIP.
Choose the correct answer from the option given below,

A) All of the above i, ii, iii and iv B) Only i, ii and iii
C) Only i, iii and iv D) Only ii and iii
38. Match List — | with List — |1 :
List -1 List =1l

a. Leishmania tropica minor I. Kala-azar

b. Leishmania donovani ii. Wet sore

¢. Leishmania brasiliensis ili. Oriental sore

d. Leishmania fropica major iv. Nasal leishmaniasis
Choose the correct answer from the option given below.

A) a—ii, b=iii, c—iv, d=| B) a—iv, b=iii, c—1, d-ii
C) a=iii, b—i, c—iv, d=ii D) a—iii, b=iv, c=ii, d=i

37. Histones is/are shows positive charge because of the abundance of
I. Lysine, aspartate and glutamate

il. Lysine and arginine

iii. Aspartate and glutamate .
iv. Arginine and aspartate

Choose the correct answer from the option given below.

A) Only i and iii B) Only ii

C) Only iv D) Only i
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; mﬁqtﬂ.ﬁa‘dﬂ#ﬂ ADFE R ASiohod, JmgrQod doYrinvEoed mEn
uv
HERe oot S Aoerbgt whe) o C = B ArEnT O meuEo.
& fenagnees GFA 23 dorhk@oon, woch e
FpZrd smdTE mon® = 125 mg/dL
mmud ohia's momd = 1 mg/dL

FonBw vwsiisod Wakes = 1 mbU/min
A) 1 mL/min B) 125 mL/min
C) 0.008 mL/min D) 180 mL/min

35. ma.!mggm eNNE 4 89N comas weed) v Hocinad)E ?
I shoogmnic &y iboen GH hah TSH iy Fasbadonnt Wewopaes,
i, TRAF TOmd Sm Wombeedons donogd,
il. Sedmertedt nofob oRT Fambdobs Sdokoc
. GIP :;aﬁmﬁmﬁg‘ oot
B emoRiitss wedynivon oo YugdE; Suk.

A) oeds e, i, iil o) iv B) i, ii b2 iii Sng
C) i, il ey v Sng D) i =3 i SR

36. | 3 T~ Il el Brcdk:

- s~ I

a. dededadn e cam &) S0 i. TR - o
b. dededatn drilasmd i, S zRec
c. degenoin Wadcam i, t.bodiobier Arect
d. Sededotn o cam shewo’ iv. Semer degencinan
Wi Remennooe wolyniver dbcdng wugos: s,
A)a-H, b-Wi c—W, d-i B) a=iv b=, c=i d=ii
C) a—iii, b=i, c=iv, d-ii D) a—iii, b=iv, c=ii, d=i

37. L rid orid By Dok wodr Pt dneomest

i A, emideriy Sz rigkseioess
i, Grar sy et

i, emderia S rhlicher

Iv. eirgd Sl mideryy

#n Ledomhoes eﬂcdaplrﬁ:'um' RbcIRE wwEos son,

A) i dﬁg iii d.mé, B) i E.“'ﬁé

C) iv ang D) i =nz
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38. Match List — | with List — 11 ;
List -1 List -1l
a. Hydrodamalis gigas I. Mauritius
b. Haphus cuculla il. Australia
c. Thylacinus cynocephalus iii. Africa
d. Equus quagga quagga iv. Russia
i Choose the correct answer from the option given below.
L A) a-—ii,b=iii,c—=iv,d=i B) a-iii,b—iv,c—i,d-—ii
C) a—iii,b—iv,c—ii,d =i D)a-iv,b—i,c—ii,d-ii

39. A particle p, of mass m, starting from rest at the point P moves down a frictionless
straight inclined path PQ at 45° to the horizontal under gravity to reach the point Q
on the ground. Another particle Py of mass m,, < m, is dropped from P to vertically
fall to the point R on the ground. Then which of the following are true 7

i. p, and p, will touch the ground with equal speeds.
ii. P, and Pa will touch the ground simultaneously.
iii. Ratfio of the time taken by p , to the time taken by p,, to touch the ground is Jz2.
iv. p, and p, will touch the ground with speeds whose ratio is 1/v/2.
A) i and ii B) i and iii
C) iiand iv D) iii and iv

40. A concave mirror of focal length f and radius of curvature R is cut into halves by a
plane containing the principal axis. Then which of the following are false ?

i. Radius of curvature changes to R/2.

ii. Focal length changes to £/2.

iii. Focal length changes to 2f.

v. Radius of curvature changes to 2R while focal length remains the same.

A) Only i and ii B) Only iii

C) Only iv D} All the four i, ii, iii and iv

41. A sphere of radius r of material of density p is fully immersed in a liquid of density o.

The loss of weight of the sphere would be (acceleration due to gravity is g)

A} (/3 pg B} (#/3)nr’ag

C)o D) Mone of the above
A -18-
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38. el | 7 - Il deodi Brod.

sl -1 = -1l
a. @ de resndy A i, sl
b. Copr mebey ii. e edodn
c. gemaan Janetmer iil. 4w
d. S\ BRI iv. dmﬂ
i Remoandos wolynves RboiRg pgdsas o
A)a-ii,b—iilbc—iv, d=1 B) a-iii,b—=iv,c=i, d=ii
C) a—iib—iv,c=ii,d=1i D) a-iv,b—=i,c—iid-ii

39. gsjoed m, 0 ¥ p,, P omhand, agedoned mbumens PQ prrsooog S
SElE SRNFEay, 45°chd ihhe dar Boh waahd ISEumn Jug S Q
woThERs JLsmes dmiE m, <m, dsmbon Sednonb B p, v P Ro wowmh
Jud shed R worban tedes SRTIES. mmaid 81 SPERnve ot 56 ?

i p, T2 p, St ASRT Bericg, Bergs

i p, % p, domh vemeTid AerRR

i, BosayRsraen p, Srfcired Asoong p, drchincd Bbont embmey V2 e
iv. 12 eaemes deidachinp, S p, Som Rbrazd.

A) i oy ii B) i sty fi

C) ii B iv D) i 23 iv

m

v. Sgeb 35T 2R Mudmnes vod Sy dor ARnamn swectugd.
A) i shab i Sng B) iil Sng
C) v =ng D) ey meyi, i, il Sy iv
41. p memden Iamr §x0 e o mogdeb TRUS Reghrrmoh soshrbEs, e
2ned el (rbom, Smr Howed Sensgr dos g) "
A) (4/3)nrpg B) (4/3)nriog
c)o D) e cangde we
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42, Which of the following are true 7

44,

45.

47.

48.

49.

i ISRO's Chandrayaan-2 is a mission with the goal of exploring Moon.
ii. Chandrayaan-2 is India’s first successful mission to explore Moon.
ii. ISRO’'s GSLV-F10/EOQS-03 launched on Aug. 12, 2021 was an unsuccessiul
mission.
. GSAT-3 is India's first dedicated educational satellite to provide with two way
communication for delivering educational material.
A) i, iii and iv B) i, ii and iv
C) ii and iii D) i, ii, iii and v
Suppose we have 18.3 litra oxygen gas containing 0.75 moles at 1 atmospheric
pressure and a5°C. If all this oxygen were converted to ozone at the same
temperature and pressure, what would be the volume of ozone formed in litres 7
A) 183 L B) 9.15L C) 12.2L D) 2745L

Calculate the vapour pressure of the resulting solution prepared by mixing 0.5 moles
of sucrose with 19.5 moles of water at 50°C. (Vapour pressure of pure water at 50°C
is 40 torr)

A) 36 torr B) 37 torr

C) 38 tor D) 38 torr

What is the resulting H" ion concentration obtained by mixing 50 mi 0.2 M HNO,,
with 10 ml 0.1 M NaOH ?

A) D14 M B) 0.15M C) 016 M D) 017 M
Which group of the modem periodic table does the synthetic element Oganesson (Og)
belongs 7

A) 15 B) 16 CITE D) 18
Which caste performs Thirayattam' 7

A) Nair B} Chakkiyar

C) Kurichiyar D) Parumannan

‘Libero' is a word associated with which game ?

A) Football B) Hockey

C) Volleyball D) Cricket

What is the real name of the author ‘Parappurath’ ?

A) K. E. Mathai B) E. M. Kovoor

C) P. C. Gopalan D) K. J. Baby

-20-
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42. & SNSYrive cInRsheh A ?

43.

47.

49,

i ofined W oina-2 Woraa e ek rLDoDREy Frohoos cdrees Lnd,
i domcona-2 WoTme 573, paRsE RUIT drmy el cdnemdoinnc.
ii. 20219 ﬂr'i‘r:w 2 dord e oloent aXR D GSLY-FI0WEQS-03 t.oms &gy
clrealoini.
v, -3 zﬁp‘-ﬁ“ TonnieE Feodmen 000 FHoman, wOEe) aomoed tRIBn

Hnds g3 rumnzmhc.
A) i, il =2y v B) i, ii sha v
C) i Sy i D) i, i, fil =5y iv

= 18.3 Deuer uhsde wpumE 0.75 Sreoive 1| mBIURT LIBTY 2
25°C 38 Brodds oom pRatines. 81 o sThnmeEay et HTRRE 08 LIEY,
bdyme =h ZoSirasid, Seuotivd orgnieos Liyeey ok .,:;ﬁ::_1 )

A) 183L B) 9.15L C) 122L D) 27.45L

50°C #4.0.5 dae e w2 19.5 Sreer Deotpohit Ltk iRt mEnT Wil
8-t o) ﬂ?;ﬁﬁ. (50°C ﬁﬂmﬁnqj 2608 L .30 40 BT = L)

A) 36 wmTF B) 37 T

C) 38 o D) 39 =T

50 ml 0.2 M HNO,, ez 10 ml 0.1 M NaOH Zronr didds shees ddohmniaHY
wotne modid o) 2

A) D14 M B) 0.15M C) 0.16 M D) 0.17M
mmm@ummmw 0B i (Og) 202 ?
A) 16 B) 16 C)y 17 D) 18
' S-cdmET ::ss.l cins wdohaith Aur kb T 7

A) oo B) tmdcdny

C) doroino’ D) iy

‘Ode w0t S0 ciRd sudeolnt Bocpnng Eredo?

A) PR B) ¢

C) mémes D) &

TROPE " et desldd b Eaden 7

A) 8w 2xmclr B) = a0 SRgRT

C) & & RremeT D) % of oder
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50. Bhanumathi and Madhanan are characters in which Malayalam posm "

A) Leela B) Vazhakkula
C) Dhuravastha D) Ramanan
2\ (-4)”
51. Ewvaluate L ) { _1
. z
-2 }
Ay 2% By 2 c) —2° D) None of these

52. The average of 10 observations was found to be 20, Later on, it was detected that

12 was misread as 21. The correct average 1s
A) 333 B) 1841 C) 208 D) 22.2

53. B0% of employeesinan office are fem
i 25. The number of female employees is
A) 100 B) 125 C) 115 D) 90

xt 160 km at 80 km/hr.

ales and the total number of male employees

54. A man on tour travels first 160 km at g4 km/hr and the ne
The average speed for the first 320 km of tour i5

A) 36.55 km/hr B) 36 km/hr
C) 71.11 km/hr D) 72 km/hr
55. ita:b::c:d, thenwhich among the following is rue {
A) ac=bd B) ab=cd C) ad=bc D) none of these
56, The calendar for the year on22 will be the same for the year
A) 2030 B) 2031 C) 2032 D) 2033
57. Identify the odd one out in the given oplions.
A) 101 B) 103 C) 106 D) 107
58. Find the angle between the two hands of clock at 4 10.
A) 617 B) 68° C) 65° D) 65°
59. 2 12, 36,80, 252
A) 150 B) 110 C) 125 D) 168
&0. If CHAIR is written as 34567 and RENT is written as 7128, then REAR is written as
A) 7157 B) 7137 C) 1™ D) 1751
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50. gRAbS s SRy SeciRved cind SRR TErivons 7

A) dem B) @veyo
C) gooax, D) debre
] L
. oo LY
a) 2% B) 2718 v O D) =) cinEe vy

52. 10 ssieipezivg memd 20 ooty Somxoohd. axosn 12 5:',.3{21 <00 TN LOmAD
ool sSoieRodenatomh, Bt NmmDodn

A) 333 B) 19.1 C) 20.9 D) 222

r 53, i.'b!ndnﬁ:rth :.‘r:i!.‘n BAL) o Jl;ld%tfﬂ# :tza; 25.
m#ﬂﬁm
A) 100 c) 115 D) 90

54. HenRoOiEne s dec 160 8.0 Sedssy o 64 8,20e S %) Fedd
~180 B.awe. ﬂmﬂ:ﬁ: Rotirt 80 & 20¢ Senod Dotnelthms, s wid deds
320 #.20¢. mmmmmﬂ

A) 36.55 .20t /rowd B) 36 &.au0e /riowd
. C) 71.11 #.500 frioed D) 72 & 508 [ rosd

55. womSwab::c: dQomod s wWASnYd cingc 15 7

A) ac = bd B) ab=cd C) ad=be D) =) ciRdan vy
56. 2022 dm,Sodc’ ot SF § RRRTPNGEC.

A) 2030 B) 2031 C) 2032 D) 2033
57. @ ArEeRhooa eﬂlﬂﬂ?__‘ aﬁmm rochdn,

A) 101 B) 103 C) 105 D) 107
58. 4:10 gﬁmmm‘aﬂmwamm dreran FombhRolob,

A) 61° B) &8° C) 55° D) 65°
59. 2,12, 36,80, 252,

A) 150 B) 110 C) 125 D) 168

60, .o S CHAIR .:::-:-*.r,.::.u|'.:|'..-1L:-l 34567 oot oy RENT mmﬁ“ﬁi 7128 ~oth wouns,
REAR sctomss @ sodochsombhety 9
A) 7157 B) 7137 C) 1731 D) 1751
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61. ASCII code for alphabet A is
A) 10 B) 65
C) 97 D) Mone of these
g2. SDRAM refers to
A) Synchronous DRAM
B) Static DRAM
C) Semi DRAM
D) Second DRAM
g3. Decimal equivalent of hexadecimal 61h
A) 20 B) 33 C) 61 D) 97
&4. Which is the internet protocol used in the URL hﬂpstww,mychBga-ﬂrgl'mdex.php T
A} www B) hilps
C) org D)} index
§5. Program that combines one or more object files and generate a single executable file
A) Compiler B) Debugger
C) Interpreter D) Linker
66. Which of the following memary is non-volatile ?
A) DRAM B) ROM
C) SRAM D) Mone of these
&7. What is the value of sum after the execution of the following code 7
int sum = 0

ic:rtinti=1;i~:=5;i++]

{
if(i % 2 ==0) continue;

sum += i,
1
A) 1 B) 6 C) 9 D) 15
68. Protocol used to send mail
A) FTP B) HTTP
C) SMTP D) WWW
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. Agency which assigns IP addresses
A) ANSI B) ICANMN
C) IEEE D) IMAFP
70. Keyboard shortcuts used for find and replace functions
A) Ctri+F, Ctri+H
B) CtrsF, Ctrl+R
C) Ctrl+C, Ctrl+V
D) Ctrl+S, Cirl+X

71. Which operator is used to concatenate contents of two cells in excel ?

A) Plus (+) B) Hash(#)
C) Dot{.) - D) Ampersand(&)
72, The basic unit of a worksheet into which you enter data in excel is called a
A) Tab B) Cell
C) Box D) Range
73. Keyboard shortcut to start slide show in PowerPoint
A) Ctl + R B) Cirl + S
C) F5 D) F&

74. InVisual Basic, which of the following keyword tells the computer to pass the variable's
address rather than its contents 7
A) ByAdd B) ByPoint
C) ByRef D) ByVal

75. Function overloading is an example of
A) Abstraction B) Encapsulation
C) Inheritance D) Polymorphism

76. Which of the following is not a type of inheritance in C++ 7
A} Multiple B) Multilevel
C) Distributed D) Hierarchical
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+7. Which of the following instruction tells the computer to close the current form in

Visual Basic 7
A) This.Close( )
B) Me.Close( )
C) Close.this( )

D) Close( )

78. The key that represents relationship between database tables

A) Foreign Key
B) Super Key

C) Candidate Key
D) Primary Key

|
i
|
I
|

7. |n SOL, the insert, delete and update commands come under
A) TCL (Transaction Control Language)
B) DCL (Data Control Language)
C) DDL (Data Definition Language)
D) DML (Data Manipulation Language)

an. How do we write a comment in JavaScript 7

A) [* comment */ B) // comment

D) ;comment

| C) #comment

g1. Choose the correctly spelt word from the following.
A) Guage B) Momento
C) Pronounciation D) Righteous

82 Sheisrelieved her duty.
A) from B) of C) off D) in

83. Choose the odd one out. '
A) idle B) indolent
C) ideal D) lethargic

=2h-
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84. Choose the correct sentence.
A) Everyone of the girls love to have gifts
B) Thirty thousand dollars is a huge amount
C) Ideal
D) Lethargic

85. Choose the correct one.
A) loaf-loafs B) sheep-sheep
C) louse-louses D) echo-echo

86. The more you try, the it is.
A) good B) better
C) best D) worst

87. | am wrong in this case,

A) am|? B) amn't|?
C) arel? D) aren't | 7

" 8B. Their is different and the bast in this field.
A) nota bene B} ad infiniturm
C) bona fide D) modus operandi

89. Dr. Salim Ali was a naturalist and an expert on birds. Find a one word substitute for

the underlined set of words.
A} ornithologist
B) ophthalmologist
C) orthodontist

D) philanthropist

90. When the police , the thief had already left.
A) come B) came
C) was coming D) has come
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g91. = ﬁ#hﬁﬁ]ﬂ#&ﬂﬁqu}mﬁaﬁa rdoaad,
A) Segorird
B) ey oried
C) &gpoues
D) adypoyis

92. = N Y, caRFTR SagE wichmnd ?
A) sxde edis mie Sl s
B) e tmide wate Heldr e
C) s uade udde Jaldn decsy
D) mar whte ets dedn Speo

93. ';d %oR WRaN TN woed” Low wodeh retiedd eTF
A) riedch Hemzmry
B) rirsyic Amess waniash
C) esbelaDon e vd
D) cindpe SRac 247 M erpim

04. = denayrivd 0004 caRam ?
A) .,.rﬂi“
B) <&
C) <%,
D) cinmte &y

95, ‘Fu’ e ‘eIt oty :mqm,_ enacmn Aroes Besy =3

A) Fezmo B) TumC

C) genmo D) FmI=T
96. ‘AT <oud

A) Zacinhoow nE B) iz =3

C) & emo D) acevor
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